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1. ‘G-va’ 9 @ yfauifed fhar 1. The ‘pH’ term is coined by :

(A) RN T4 ¥CRe A (A) Arnon and Stout
(B) Tor A (B) Muller

(C) |R=GT (C) Sorenson

(D) SUga H H Bl el (D) None of the above

2. 9 pOH @ WU 1x10° B, d §-Ua. 2. When the pOH concentration is 1x 1075,

A BN then pH will be :
(A) 3 (A) 3
B) 5 (B) 5
© 9 (C) 9
(D) 14 (D) 14
3 fafrrarsftar difeem <100 3. E>_<changeab|e sodlurr_1 <100
g fafaaa eman Cation exchange capacity
LSl I ST fhar S Godl 2 formula is calculated as :
(A) SAR (A) SAR
(B) pH (B) pH
(C) CEC (C) CEC
(D) ESP (D) ESP

AG-4004 (3) Set-C



4. f=fofed # 9 d9-91 921 gﬁﬁﬁ T& 4. Which of the following is not correctly

g‘r 2 matched ?
pEe STt Crops Optimum
H range
ql-va. g pH rang
(A) Rice 4.00-6.00
A) g4 4.00-6.00
B) wE 5.00-7.7 (B) Oats >.00-7.7
(C) Potato 5.00-5.5
(C) ameq 5.00-5.5
(D) g 4.00-5.00 (D) Wheat 4.00-5.00

5.  fy=foRed § ©§ 9e9 1@ ofaur yfeRkle 5. Which of the following is a highly salt

lerant crop ?
& 1ol T ¢ tolerant crop

(A) Hell (A) Radish
(B) WK (B) Lentil
C) WX (C) Pea
(D) ®U™ (D) Cotton
6. 3 a1 B IR § : 6.  Acid rain is caused due to :
(A) FEA FARIEES 19 (A) COgas
(B) s favrgs i (B) NOgas
(C) THR Jfaarss i (C) SO gas
(D) Suga |1 I (D) Al of the above gases
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7. S9e-WEs &3 ¥ Rirg @ we fofy

2
(A) T R
(B) BRI R
(C) cue R
(D) SWE ¥ W B &l

8. Hal U & vl fived & foRl amawad

d@ @

(A) TeRrH
(B) @l
(C) Hfesrd
(D) AT

9. ST Bl b DT O qhall & 7

(A) F&T TGl Bl GIRR
(B) wel H Ul Pl SR

(C) IRl TR dg el P THR

(D) ST W

AG-4004

(5)

7.

8.

In highly undulating area suitable

irrigation method is :

(A) Furrow irrigation

(B) Sprinkler irrigation

(C) Drip irrigation

(D) None of the above

Element essential for the deflocculation of

soil particle is :

(A) Potassium

(B) Iron

(C) Calcium

(D) Sodium

How can we prevent waterlogging ?

(A) Improved soil structure

(B) Grow plant ridges

(C) Consider planting tree as light

mound

(D) All of the above

Set-C



10.

11.

12.

AG-4004

WY a7 fae e Red ¢

(A) PR A
(B) IR #
(C) WU H
(D) eI A
I Jard grl IRl @
(A) T H
(B) 3w ¥
(©) TR A
(D) SWa ¥ ¥ I3 Tl
frefoied & & dH-a1 98 gaferd T8l
g ?
A e SeRMIGRY A
(A) T g9 = 179
(B) deze 110
©€) TR 109
(D) IRd wrT 86

(6)

10.

11.

12.

Indian Institute of Soil Science is located

at:

(A) Kanpur

(B) Nagpur

(C) Bhopal

(D) Dehradun

Desert soils are found in :

(A) Entisols

(B) Alfisol

(C) Aridisol

(D) None of the above

Which of the following is not correctly

matched ?
Lime Neutralizing
material value
(A) Bruntlime 179
(B) Calcite 110
(C) Dolomite 109
(D) Basicslag 86
Set-C



13, ffaed § ¥ @9 @& QAferd T8 13, Which of the following is not correctly

8§97 matched ?
gl el SR Lime Molecular
Material formula
(A) BHewrge CaCO,
(A) Calcite CaCOg
(B) SramIse CaMg (CO3),
(B) Dolomite CaMg (CO3),

(C) femgemgm  Cao
(C) Burntlime Ca0o

D Ca (OHCO
(D) g3 gam g a(OHCO;), (D) Slaked lime  Ca(OHCOs),

14. RIS Gehe GE B 39 BT F o or@r - 14. Acid sulphate soil is also known as :
2

(A) |BE el (A)  White soil

(B) el HaT (B) Black soil

(C) &T T (C) Catclay

(D) Suga H A Bl 7Tl (D) None of the above
15, aU HamRl H U ST § 15.  Saline soils have :

(A) DferE, THIRRM, d@REs U4 (A) Ca, Mg, Cland SO,

qAHT

(B) BfH, FEMC Td SISHEC (B) Ca, CO, and HCO,

(C) aHI (A) 3R (B) (C) Both (A) and (B)

(D) SUYa H A Bl 7l (D) None of the above

AG—4004 (7) Set-C



16. Torog| & 907 @ gRT o fpar 16, Gypsum requirement is calculated by :

ST & |
fafrrereier Gifeam faera (IRfEE) — itial) — i
(A) P Ao st (30 X100 A) ESP (Initial) — ESP (Final) « 100
oA fafwe eman CEC
(B) OC x 1.724 (B) OC x 1.724
© 1-22.100 © 1-2P 100
PD PD
(D) SWE ¥ ¥ IS el (D) None of the above
17. 1 T U9 3R, A0S, ¥fud fhar T 17. CSSRI established in :
(A) 1960 H (A) 1960
(B) 1969 # (B) 1969
(C) 1972# (C) 1972
(D) 1990 § (D) 1990

18. WI¥ W& Wdeor Ud YA SUAN A 18 Headquarters of National Bureau of

Soil Survey and Landuse Planning is

RI T AT AT & -

situated at :
(A) TR H (A) Nagpur
(B) % fowell ® (B) New Delhi
(C) SR 4 (C) Kanpur
(D) RERH (D) Hisar
19. gg Url &1 §-UF. 2§ 19. pH of pure water is :
(A) 7 (A) 7
(B) 6 (B) 6
(C) 8 (C) 8
D) 9 (D) 9
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20. Y& U BT T BT & 20.  Colour of pure water is :

(A) ¥ (A) White
(B) W (B) Brown
(C) e (C) Colourless
(D) widl (D) Greyish

21. RiaE 9ot @ fagd A (EC) @il & 21, Electrical conductivity (EC) of irrigation

water is :
(A) 1dsm! ¥ FH (A) < ldsm
(B) 15dsm~! ¥ 3f® (B) >15dsm
(C) 2dsm ¥ FH (C) < 2dsm™t
(D) SWE ¥ ¥ IS el (D) None of the above
22. & &1 g fbda SR B © ° 22.  Blue baby syndrome is due to :
(A) THIMRA BT Ao (A) Al toxicity
(B) g &1 favelmoH (B) NOj toxicity
(C) daIRTSS @I fauraaar (C) Cl toxicity
(D) g @ fawramar (D) Fe toxicity
23. STl &I U9IT B 23. Effect of waterlogging is :
(A) TG FAR BT TG M (A) Poor aeration
(B) ¥eT A &1 fRT (B) Reduced soil temperature
(C) UN®d dadi a1 frere (C) Leaching losses of nutrients
(D) SWa &+ (D) Al of the above

AG-4004 (9) Set-C



24,

25.

26.

AG-4004

AUl D FHE W eIl b qal A
gl el g ?

(A) @I a1

(B) &R Tl

(C) it a1

(D) clef qaT

Tl B B T WE W GE WM W)

RIRYT FHEAT B -
(A)  FATATIRYT

(B) HaT &R

© i R

(D) ST T

H* W & gohd AgIId Bl Sl
SR

(A) g arereer

(B) el T

(C) UL g

(D) SWad # | BIS T2

(10)

24.

25.

26.

White layers of salt are commonly seen in

which soil ?

(A) Saline soil

(B) Alkaline soil

(C) Acidic soil

(D) Red soil

Detachment of soil particle from one place

to another place is known as :

(A) Levelling

(B) Soil erosion

(C) Land reclamation

(D) All of the above

The negative logarithm of H*

concentration is known as :

(A) EC-Electrical conductivity

(B) BD-Bulk Density

(C) pH

(D) None of the above

Set-C



217.

28.

29.

30.

AG-4004

. U AR, fogs g1 9d foar oiar g 2

Na+

2

(A) SAR =

CaJ;MgXNa

©) 1—%x100

(D) W A W 3T T
foRIq arctedT B AU B HE B

(B)

(A) e /B

(B) ficimant /AR

(C) i /wie

(D) SWE & W B &

9-1g. I A D pIE- Ay wEnr @
STl & °

(A) M AR

(B) 7o gefagrs fafd

(C) YHIRIG yRMe faera fafer

(D) SHIE W

SR Ueq & 6 el 4 ol gerd i
ST 8 ?

(A) SR

(B) e

(C) TR

(D) ST T

(11)

217.

28.

29.

30.

SAR is calculated by :

+
(A) SAR = Na
Jcat+ + Mg+
2
(B) w % Na

©) 1—%x100

(D) None of the above

Measuring unit of electrical conductivity
IS :

(A) mmho/cm

(B) mmho/m

(C) mml/feet

(D) None of the above

Which
determination ?

methods is used in pH
(A) Colourimetric method

(B) Glass electrode method

(C) Buffer solution method

(D) All of the above

In which district of Uttar Pradesh red soils
are found ?

(A) Mirzapur

(B) Jhansi

(C) Hamirpur

(D) All of the above

Set-C



31.

32.

33.

34.

AG-4004

3t HRI3 T YU, B @

(A) 79 ®H

(B) 7 3 31fd

(C) 85

(D) 9

et Rl # ffoRed ol # @
febsgept aferep AT &1 UrdY Il @ ?
(A) Fe™

(B) Al

(€) Cu™

(D) Mg™

fforiad uemeil 4 | B9 40 GERS @
w0 # JANT f5d o aed €

(A) A

(B) WIS

€ 7w

(D) SHIE W

g B 59 761 & 4 R q T
R @ ?

(A) T T

(B) &R a1

(C) 3l T

(D) ST W

(12)

31.

32.

33.

34.

pH of acidic soil is :

(A) Lessthan7
(B) Morethan7
(C) 85

(D) 9

Which of the following ions is not found

in excess amount in acidic soil ?

(A) Fe**

(B) AI***
(€) Cu™
(D) Mg™

Which of the following substances can be

used for soil reclamation ?
(A) Gypsum

(B) Pyrite

(C) Lime

(D) All of the above

Lime can be used for which soil

reclamation ?

(A) Saline soil
(B) Alkaline soil
(C) Acidic soil

(D) All of the above

Set-C



35. fyfoiRed I&R@ § W H-9 gar § 35, Which of the following fertilizers produce

TR SO T & 7 acidity in soil ?
(A) DIERH TEee (A) Calcium nitrate
(B) Afed AEge (B) Sodium nitrate
C) 3FRa (C) Urea
(D) Bfw sMIfHT¥ Arsge (D) Calcium ammonium nitrate
36. YRd H HIULH PIA-AT IR &7 o ? 36. In India which fertilizer was manufactured
first time ?
(A) gRar (A) Urea
(B) TH. UH. . (B) S.S.P.
(C) ST U (C) D.A.P.
(D) Suga H A Bl el (D) None of the above
37. % BRWC H HIGRA Rl ol g 37.  Rock phosphate has P,0s :
(A) 10-20% (A) 10-20%
(B) 20-40% (B) 20-40%
(C) 30-50% (C) 30-50%
(D) SUYa H H IS el (D) None of the above
38. faAmsdiaRyr ufshar ¢ 38. Denitrification is a process of :
(A) SiTFITER B (A) Oxidation
(B) STerdrod @ (B) Hydration
(C) IEBRYT D (C) Carbonation
(D) 3APRI DI (D) Reduction

AG—4004 (13) Set-C



30. FTESIGRUT URhar fhd @M # g =il 39.  Nitrification process becomes rapid in

39 which season ?

(A) Tu &g (A) Rainy

(B) ¥ g (B) Winter

(C) = ESS (C) Summer

(D) Sugad FHI (D) All of the above

40. dEHe gt foad sia fear oar g ? 40. Organic matter is calculated by :

(A) O.C.x1.724 (A) 0.C.x1.724
(B) O.C.x2.24 (B) 0.C.x2.24
(C) 0.C.x1.60 (C) 0.C.x1.60
(D) 0.C.x20 (D) 0.C.x20

41, Squiig H&T B ST AT 3 41.  Saline soil is also known as :
(A) e (A) Solonetez
(B) lTaid (B) Solanchalk
(C) WISHEi® (C) Sodachalk
(D) Suga H A Bl 7l (D) None of the above

42. BT BT T X (5 HROT I BT & ? 42.  Black colour of soil is due to :
(A) BHCRRS (A) Hematite
(B) raf® uare (B) Organic matter
(©) fe Ry FeerEe (C) Tetaniferous magnetite
(D) SUYa H A Bl 7l (D) None of the above

AG—4004 (14) Set-C



43, FH @I AT el B yfauIied o

(A)

(B)

(©)

(D)

WImes -
Nl

AR 9 3 F
IR A

44, g Rt @ fTa @R

g7
(A)
(B)
(©)

(D)

79 Y
85 U B4

8.5 U 3w

Swad # ¥ Plg T

45. b9 YHR S FaT 3l $I gar dI-va. 4

9T ST B ?

(A)

(B)

(©)

(D)

AG-4004

Bl I
Tl A

Fgel A
SERECEGE]

(15)

‘Lime requirement’ term was proposed

by :

(A) Schofield

(B) Ramamoorthy

(C) Shoemaker et al.

(D) Sorenson

What is the pH of

soil ?

(A) <7

(B) <85

(C) >85

(D) None of the above

alkaline

Which type of soil acidity is measured in

soil pH ?

(A) Total acidity

(B) Active acidity

(C) Passive acidity

(D) All of the above

Set-C



46.

47.

48.

49,

AG-4004

T &R & HROT BT 3 |
EEREER

(B) 3® =TS

(C) UMl @I del

(D) Suda Wl

qferdT &RV qE8 T © -

(A) TRT &R G

(B) aul g &R H

(C) JfTAlCTdT &R B

(D) SWE & W B &

fFrfoRed ®R®I § ¥ B T &R B
T a1 & 7

(A) o

(B) 91
(C) TIRmR

(D) SHIE W

ffoiRad Bl § B HaT &R Bl
UG o T 31fd JHEERT 8 2

(A) FUE

(B) I

(C) 3R

(D) =1 9l

(16)

46.

47.

48.

49.

Soil erosion is caused due to ................ .

(A) Rapid urbanization
(B) Overgrazing
(C) Cutting of trees

(D) All of the above

Gully erosion is an advance stage of :

(A) Sheet erosion
(B) Splash erosion
(C) Rill erosion

(D) None of the above

Which of the following factors lead to soil

erosion ?

(A) Water
(B) Wind
(C) Glacier

(D) All of the above

Which of the following crops is effective
in controlling soil erosion ?

(A) Cotton

(B) Maize

(C) Pigeonpea

(D) Greengram

Set-C



50 TRE RO & PR BT 2| 50. Sheet erosion is caused by :

(A) o gl (A) Storm wind
(B) TARRR (B) Glacier
(C) T & O BT g 9819 (C) Fast running river water
(D) 3R auf (D) Heavy rains
51. 5 S Pl HAT O & 51.  5June is celebrated as :
(A) WRAH gl feaq & Y o (A) Indian Flag Day
(B) fava S feaw & wU H (B) World Population Day
(©) fivg wiRy feaw & w9 # (C) World Environment Day
(D) fdeq yguvr feqw & wU # (D) World Pollution Day
52.  JqHfidl BI fhdd gRT §SHIT Ol & ? 52.  Gullies are removed by :
(A)  FHTATIENYT (A) Levelling
(B) e W (B) Ridge ferracing
(C) WOR T ®I Areds (C) Hard pan breaking
(D) Suga H A Bl 7l (D) None of the above
53. Slcl &R B Fel $H © 53. The correct sequence of water erosion is :
(A) UG, 3T, el &RoT (A) Sheet, Gully, Rill Erosion
(B) fera, aul 4T, WA &RV (B) RIill, Splash, Sheet Erosion
(C) a9 g, WRd, Fferd, AT &RoT (C) Splash, Sheet, Rill, Gully Erosion
(D) 3raifere], I97 &, URd, “AfeTdl &Ror (D) Gully, Splash, Sheet, Rill Erosion

AG—4004 (17) Set-C



54, d1Y &RV Y B 3 54.  Wind erosion is higher in :

(A) THC HaT H (A) Loamy soil
(B) Forh HaT # (B) Clayey soil
(C) 9 JaT H (C) Sandy soil
(D) Tl I8 HaT o (D) Barren sandy soil
55. YRd @ fbg I9 § Wed o0&  55. Which state has highest problematic soils
ARG Jeri ) o € 2 in India ?
(A) U9 (A) Punjab
(B) ToRId (B) Guijarat
(C) SR U™ (C) Uttar Pradesh
(D) feER (D) Bihar
56. STeTddl P BRI B B | 56. Waterlogging is due to :
(A) s auf (A) Excess rainfall
(B) TR TAMHN (B) Poor drainage
(C) ™ I ®R (C) High water level
(D) SUgad JHI (D) Al of the above
57. e Yar Uil Il g 57.  Desert soils are found in :
(A) 3% & # (A) Humid region
(B) Y U4 3N &F o (B) Avrid and humid region
(C) T 4 3-Th &7 4§ (C) Arid and semi-arid region
(D) Sugad FI (D) Al of the above

AG—4004 (18) Set-C



58. fyfciRed # W BIF-91 91 &RV & YHR  58.  Which of the following is not a type of

Y wind erosion ?
(A) dfedy (A) Extrusion
(B) SURTcH (B) Saltation
(C) g fasqdur (C) Surface creep
(D) o= (D) Suspension

59. ¥l SYAINAT qidxvl & AR HY & 59.  According to land capability classification,

b R Pr-a o o § ? which class is not used in agriculture ?
(A 131V (A) IV
(B) 19 VI (B) I-VIII
(C) VI Vi (C) V-Vl
(D) SUId H H I Tl (D) None of the above
60. oquT GioRE B B 60. Salt tolerant crop is :
(A) =T (A) Gram
(B) X (B) Pea
©) it (C) Barley
(D) 99 (D) Bean

AG—4004 (19) Set-C



10.

11.

12.

Impt. :

Four alternative answers are mentioned for
each question as—A, B, C & D in the booklet.
The candidate has to choose the most
correct/appropriate answer and mark the
same in the OMR Answer-Sheet as per the
direction :

Example :

Question :

Q1T ® @ © ®
2 ® ® @ ©
W3 @ @ © ®

[llegible with  cutting
over-writing or half filled circle will be
cancelled.

answers and

Each question carries equal marks. Marks
will be awarded according to the number of
correct answers you have.

All answers are to be given on OMR Answer
sheet only. Answers given anywhere other
than the place specified in the answer sheet
will not be considered valid.

Before writing anything on the OMR Answer
Sheet, all the instructions given in it should
be read carefully.

After the completion of the examination
candidates should leave the examination hall
only after providing their OMR Answer
Sheet to the invigilator. Candidate can carry
their Question BookKlet.

There will be no negative marking.

Rough work, if any, should be done on the
blank pages provided for the purpose in the
booklet.

To bring and use of log-book, calculator,
pager and cellular phone in examination hall
is prohibited.

In case of any difference found in English
and Hindi version of the question, the
English version of the question will be held
authentic.

On opening the question booklet, first
check that all the pages of the question
booklet are printed properly. If there is ny
discrepancy in the question Booklet, then
after showing it to the invigilator, get
another question Booklet of the same series.

10.

11.

12.

Te-gRA®T H UA® WA & IR GRITad StR—
A,B,CTd D | Wiemdi & 89 9 fawedl § &
U6 [ el Yal Ha¥ UG SR Blel 2|
IR BT OMR J=R-3e § Jufd u97 o §
o TPR MR R

SHEYUE

'EL

w1 @ © O™

2 A ® ©

wm: D @ © ©
TSI TR AT U SR =8 BleT AT el T
&, TT Tl H 3T MRaR fodm T, I FAvved
fear S |

TG T B 3F FHE 2| AP R SR
e B, I B AR 3P YIM b SR |

T ST $ad 3N TH. IR, ST-T98 (OMR
Answer Sheet) WX 2 fo o 8| Sw-uAe A
uiRa WM & araTmar o=d d8l W fear M
STR A T8l 81 |

3. TH. R, STR-U36 (OMR Answer Sheet) W
o N fore 9 7@ I A T W0 argeul
AaIgdd U foram S |

e T & SW Wendf w7 Red Bl
3T OMR Answer Sheet SUTE XM & I
B T P F WRAH By | qRemeff o W
TE-QRAHT o S A ¢ |

ferife mifd T8 2 |
5 W X6 PR, TH-YRADET T 3 H, H-BR
& foru oy w@relt U1 W & fdan S ARy |

URIET-eT ¥ ANT-geb, Defdeicy, UoR a2l HegerR

B o ST 9T SHBT SN AT Iroid 2 |

7 & Rl U9 Ul wUrRer § f=Tar 89 @l
T H U BT SN BN & I BT |

HEAYU

—

| EAYRADT Fiel W YA G 9% o o
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